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96.Construct A ABC given BC = 7.2 om <A =50° and +B=60"

97 Simplity the expressions and find the value if x=2 (i) x2+6-2(x~5)
ii) 5(3x— 2 )+ 4x + 15

98 In the figure AB and CD bisect each other at o}

i) state the three pairs of equal parts in triangles AOC and BOD

{ =
i) Is A AOG = A BOD 7 Give reason i) Is AC = BD ? Give reason e

99 A wire of length 88 cm is bent into the shape of a circle. Find the radius of the

Gircle and also find its area 2 If the same wire is bent into the shape of a square what

will be the length of each side ? (m=22/T)

100. From the sum of 3x +5and 2x2-4x +4, subtract the sum of 3x2-5x and

xe+2x+8

101, The standard form of === =

102, Which is greater < or 7 ?

103. Draw a number line and represent

104. Find the circumference of a circle whose radius is 14 cm.( take 1 = )
105. A gardener wants to fence a circular garden of diameter 21m. Find the length of

of the rope he needs to purchase, if he makes 3 rounds of fence. Also find the

cost Rs 10 per meter. (Take m =





[image: image2.jpg]79. Find the area of a parallelogram with base 8.5 om and height 4.2 cm.

80. Find the area of a parallelogram whose base is 18 cm and height is 54 mm.
81. Find the area of a triangle whose base is 7 om and height is 4.8 cm.

82. The area of a triangle is 216 cm2. I its height is 12 cm find its base.

83. The perimeter of a square is 26 cm. Find s area.

84.42 23 =

85.7 x 104+ 2 x 102 +3 x 10 is same as -

36. The diameter of a circle is 7 cm . Then its circumference is -~

87.If the numbers x and y both squared and added we get -

88.The value of 3x2 + 2x + 1 when xis (1) is -—

89.A ABC = APQR.If zA =70°, .B=60°, then «R=

90.Express 1600 as the product of powers of its prime factors.

91 The perimeter of a rectangle is 100 cm .If the length is 30 cm.Find its breadth.Also

find its area

92 Express the numbers in the following statements in the standard form
a) The diameter of the earth is 1, 27, 56, 000mm

b) In a galaxy there are on an average 100, 000,000 , 000 stars.

93.1f A ABC2A STR then (i) AB =

- (i) C=

(i) AC =

94,The price of a maruthi car is Rs 4,00,000 in a particular year. The next year the

price went up t0 4,50 , 000 What was the percentage of increase.
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. Find the value of:

a) 25% of Rs 12,500 b) 12%% of Rs 8400

Anis got 40 marks out of 50 in mathematics and 30 marks out of 40 in science.

Which is a better score?

Simplify: (3/4)7 = (3/4)5

Simplify: 9 + (-8 +3/5)
Express -5/8 as a rational number whose numerator is 60.
Express in standard form

@ = b =

-56 —45

Ajay secured 28 marks out of 40 in a class test. Express this as a per cent.
The value of (-1) X (-5)* X 20 is
The simple interest on Rs 7500 at 12% for 23 years is R "
The ratio of 85 paisa to Rs 6.80 in simplest formis .......
The area of a rectangle is 92.5 cm?. If the breadth is 7.4 om find the length
The area of a square is 25 em?2. Find the length of a side of the square
The area of a rectangle is 126 cm?. If the breadth is 9 om. Find the perimeter of the
rectangle.

The perimeter of a square is 42 cm. Find the area of the square

Find the height of a triangle whose area is 56 cm? and base is 16 cm
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From the adjoining figure, find the values of x and y.
One of the angles of a triangle is equal o the sum of the other two.
the measure of that angle. What type of a triangle is it?

Evaluate: 39 x 30

Evaluate: 204 2 +22

A television set is sold for Rs 10,200 at a loss of 5% Find its cost price.

In how many years will Rs 2500 yield a simple inferest of Rs 675 at 9% per annum?
15 kg of rice costs Rs 112.50. Find the cost of 24 kg of rice.

What per cent of 350 38 847

A sum of money amounts to Rs 1550 in two years at 12% per annum, Find the sum
By selling a toy at Rs 51.75, a dealer gains 15%. Find the cost price of the toy.
35%of a number is 224. Find the number.

Find the value of 7 such that (35)° X (3/5)™ = (3/5)¢

Simplify: (57X 37) = 61

The standard SRS o1 10/ 15 i

Simplify: [:312 X 4/5] + [9/5 X -10/3]

Simplity: [2/91F X [2/97¢

Write the product in standard form: 9/-42 X -14 / 15.

A radio set costing Rs 750 is sold at a loss of 14%.What is the selling price?




